Find the missing side.

Perimeter = 50 cm

The missing side

Perimeter = 139 cm

The missing side
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Perimeter = 60 cm

The missing side
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Perimeter = 96 cm Perimeter =90 cm
The missing side The missing side

Perimeter = 108 cm Perimeter = 98 cm

The missing side The missing side

Perimeter =135 cm Perimeter = 75 cm

The missing side The missing side



Find the missing side.

Perimeter =190 cm Perimeter =105 cm Perimeter =45 cm
The missing side The missing side ___ The missing side
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Perimeter = 75 Perimeter =120 cm Perimeter =100 cm
The missing side The missing side ___ The missing side
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Perimeter = 80 cm Perimeter = 80 cm

Perimeter =120 cm .
The missing side The missing side

The missing side



